INVOICE # 15-31307

March 27, 2021 12:23 PM

SALES PERSON

Greg Gibson greg.gibson@slymanbros.com



1549 Fencorp Dr, Fenton, MO 63026 Slyman Bros (Fenton, MO) Phone: 636-277-9010

BILLING INFORMATION

The Waterways of Lake St. Louis Scott Brothers Investment Corporation troy@cistlouis.com 100 Big River Dr Lake Saint Louis, Missouri, 63367 618-406-3393

DELIVER TO

The Waterways of Lake St. Louis
4) Building 37 - 16 Units
troy@cistlouis.com
100 Big River Dr
Lake Saint Louis, Missouri, 63367
618-406-3393
Alternative
636-561-8013

▲ WARNING

Please note this balance has been paid by Slyman Bros Credit Line. Contact your sales person to check your balance and current terms.

PRODUCT	DESCRIPTION	PRICE	QTY	TOTAL
WRT311FZDM (NEW) SN: VSX4636474 VSX4636468 VSA0567916 VSA1482097 VSA1536418 VSA1554149 VSA1554095 VSA1481809 VSA1482154 VSA1482096 VSA1536452 VSA1554150	33-INCH WIDE TOP FREEZER REFRIGERATOR - 20 CU. FT. Install: Freestanding Fridge Standard Install (to existing copper or stainless waterline) Delivered On: 2021-06-10 Quantity: 13 Delivered On: 2021-07-15 Quantity: 3	\$750.00	16	\$12,000.00
ECKMFEZ2 (NEW) SN: IM00695289 IM00695290 IM00675321 IM00675340 IM00695756 IM00678347 IM00695774 IM00675322 IM00675238 IM00675238 IM00675238 IM00675239 IM00695294	REFRIGERATOR ICE MAKER ASSEMBLY Delivered On: 2021-06-10 Quantity: 16	\$56.00	16	\$896.00

PRODUCT	DESCRIPTION	PRICE	QTY	TOTAL
WFC315S0JS (NEW) SN: RA1332411. RA1332416. RA1131715. RA1131712. RA1131717. RA1131714. RA1131719. RA1131719. RA1131718. RA1332408. RA1332409. RA1332404. RA1332418. RA1332418.	4.8 CU. FT. WHIRLPOOL(R) ELECTRIC RANGE WITH KEEP WARM SETTING Install: Electric Range Standard Install Delivered On: 2021-06-10 Quantity: 16	\$464.00	16	\$7,424.00

PRODUCT	DESCRIPTION	PRICE	QTY	TOTAL
WMH31017HS (NEW) SN: TRA0222364 TRA0223734 TRA1331856 TRA0223591 TRA0222297 TRX4586463 TRA0223597 TRX3589996 TRA1331647 TR92281173 TRA0222948 TRA0222948 TRA0222948 TRA0222307 TRA1221285	1.7 CU. FT. MICROWAVE HOOD COMBINATION WITH ELECTRONIC TOUCH CONTROLS Install : O-T-R Microwave Standard Install Delivered On: 2021-06-10 Quantity: 1 Delivered On: 2021-06-10 Quantity: 1	\$194.00	16	\$3,104.00

PRODUCT	DESCRIPTION	PRICE	QTY	TOTAL
VDF520PADM NEW) N: A1558633 A1558636 A1558619 A1558623 A1558627 A1558626 A1558626 A1558622 X4957744 A1452762 A1452584 X4957780 X1558615 A1558632 A1558632 A1558638	ENERGY STAR(R) CERTIFIED DISHWASHER WITH 1-HOUR WASH CYCLE Delivered On: 2021-06-10 Quantity: 16	\$338.00	16	\$5,408.00
A1452763		NOTES No Install		
VTW4850HW NEW) IN: IA0800286 IA0800281 IA1300775 IA1300778 IA1300778 IA1300776 IA1300774 IA2200184 IA1800121	3.9 CU. FT. TOP LOAD WASHER WITH SOAKING CYCLES, 12 CYCLES Install: Washer Standard Install (stainless hoses) Delivered On: 2021-06-10 Quantity: 11 Delivered On: 2021-07-15 Quantity: 5	\$400.00	16	\$6,400.00
VED4850HW NEW) N: 1A2151960 1A2151956 1A1439276 1A1439281 1A1236927 1A1236866 1A1236871	7.0 CU. FT. TOP LOAD ELECTRIC DRYER WITH AUTODRY DRYING SYSTEM Install: Electric Dryer Standard Install Delivered On: 2021-06-10 Quantity: 11 Delivered On: 2021-07-15 Quantity: 5	\$400.00	16	\$6,400.00
MA2151959				Haul Away Olc

NOTES

Subtotals \$41,632.00 Sales Tax (Fenton, MO) \$3,429.64 Install Charge \$2,720.00 **Delivery Charge** \$0.00 Total \$47,781.64 **Record Payment Amount Paid** Payment: credit_line \$47,781.64 Date: 03/27/2021 Credit Line Balance Due (USD) \$47,781.64

■ DISCLAIMER

Delivery date is subject to change if the item goes on manufacturer backorder. Backorders may occur and availability dates rely solely on the manufacturers, not Slyman Bros. Special order items, out-of-box inventory, closeouts, and discontinued items are non-returnable and non-cancelable and must be serviced if issues occur. Slyman Bros charges for standard install prices only; any additional charges past a standard install must be paid directly to the contractor at the time of installation. Once items are delivered: Cosmetic damage and property damage MUST be reported at the time of delivery; by signing the delivery document you are agreeing to this and forfeiting your right to claim damage. All promotional rebates must be claimed by the consumer and the consumer has full responsibility.